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Soirse Assignment - 6
The due date for submitting this assignment has passed. Due on 2017-09-04, 23:59 IST.
How to Access As per our records you have not submitted this assignment.
the Portal ?
1) Consider an Inter Symbol Interference channel 1 point
V\;egktj - It3_asics y(k) = x(k) + %x(k — 1) + v(k). Let an r = 2 tap channel equalizer be designed for
of Estimation, ) ) i
Maximum this scenario based on symbols y(k), y(k + 1) to detect x(k). Let the equalizer vector be
Likelihood (ML) denoted by c¢. The least squares problem for estimation of € is,
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Estimation No, the answer is incorrect.
Score: 0
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Symbol Accepted Answers: ,
Interference, 0 1 0
Channel 1 1
Equalization, 1]- 3 c
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equalizer,
Approximation . i
el!::'gr of equalizer 2) Consider an Inlter Symbol Interference channel 1 point
y(k) = x(k) + gx(k — 1) + v(k). Letan r = 2 tap channel equalizer be designed for
Week 6 - this scenario based on symbols y(k), y(k + 1) to detect x(k). Let the equalizer vector be

Introduction to denoted by €. The zero-forcing (ZF) equalizer vector C is,
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No, the answer is incorrect.
Score: 0

Accepted Answers:
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3) Consider an Inter Symbol Interference channel
y(k) = x(k) + %x(k — 1) + v(k). Letan r = 2 tap channel equalizer be designed for

this scenario based on symbols y(k), y(k + 1) to detect x(k). Let the equalizer vector be
denoted by €. The zero-forcing equalizer is,

X(k) = Tylk+ 1) + (k)

X(k) = ghytk+ 1) + & y(k)
X(k) = 3y(k + 1) + L2 y(k)

o~ 3 81

x(k) = 57 y(k + 1) + 57 y(k)
No, the answer is incorrect.
Score: 0

Accepted Answers:
X(k) = Zylk+ 1)+ Sty(k)

4) Consider an Inter Symbol Interference channel
y(k) = x(k) + %x(k — 1) + v(k). Letan r = 2 tap channel equalizer be designed for
this scenario based on symbols y(k), y(k + 1) to detect x(k). Let the equalizer vector be

denoted by €. Let the effective channel matrix for this scenario be denoted by H. The
approximation error for the zero-forcing equalizer (counting elements starting with 0) is,

1 - _HT(HHT)_IHJ

1,1

1- |u" (an")"H]|

22

1— | (uH")"|

1,1

1| ()|

No, the answer is incorrect.
Score: 0
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Domain, CTP Accepted Answers:

Example, T -1

Frequency 1 - [H (HHT) HJ

Domain L1

(EFqslg;lZéltlon | 5) Consider an Inter Symbol Interference channel 1 point

, Example- ) .
FDE y(k) = x(k) + %x(k — 1) + v(k). Letan r = 2 tap channel equalizer be designed for
this scenario based on symbols y(k), y(k + 1) to detect x(k). Let the equalizer vector be

Week 8 - denoted by €. The approximation error for the zero-forcing equalizer is,

Sequential Least

Squares (SLS)

Estimation — 1

Scalar/ Vector 3

Cases, u

Applications - 5

Wireless Fading 91

Channel u

Estimation, SLS 9

Example 91 m
2
!

No, the answer is incorrect.
Score: 0

Accepted Answers:
o
6) Consider an Inter Symbol Interference channel 1 point
y(k) = %x(k) — %x(k — 1) + v(k). Letan r = 2 tap channel equalizer be designed
for this scenario based on symbols y(k + 1), y(k) to detect x(k). What is the effective
channel matrix H for this scenario?

3 _1
4 4
H=
_1 3
B 4 4
B 3 1
r ~% 0
H =
3 1
|0 Ty
- 1 ]
T 0 0
— 3 _1
H=| 0 2 ! 0
3 1
|0 0 Y
) . -
0 0 O
— 3 _1
H=| 0 : L 0
3 1
L7 T3 0 0

No, the answer is incorrect.
Score: 0

Accepted Answers:
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3 1
4 4 0
H=
3 1
0 4 4
7) Consider an Inter Symbol Interference channel 1 point

y(k) = %x(k) - %x(k — 1) + v(k). Letan r = 2 tap channel equalizer be designed
for this scenario based on symbols y(k + 1), y(k) to detect x(k). Let the effective
channel matrix H for this scenario. The equalizer is,

R(k) = =grytk + 1) = 5 y(k)

X(k) = 3oyl + 1) + 2 (k)

X(k) = -y(k + 1) = 42 y(k)

BEGQOEE

R(k) = =grytk + 1) + G y(k)

No, the answer is incorrect.
Score: 0

Accepted Answers:

X(k) = —ghylk + 1) + 32 y(k)

8) Consider an Inter Symbol Interference channel 1 point
y(k) = %x(k) - %x(k — 1) + v(k). Letan r = 2 tap channel equalizer be designed
for this scenario based on symbols y(k + 1), y(k) to detect x(k). Let the effective
channel matrix H for this scenario. The approximation error is,

No, the answer is incorrect.
Score: 0

Accepted Answers:
5
9) Consider an Inter Symbol Interference channel 1 point
y(k) = %x(k) — %X(k — 1) + v(k). Letan r = 2 tap channel equalizer be designed
for this scenario based on symbols y(k + 1), y(k) to detect x(k + 1). Let the effective
channel matrix H for this scenario. The approximation error is,

https://onlinecourses-archive.nptel.ac.in/nocl7_eel9/unit?unit=123&assessment=155 4/5


https://www.facebook.com/NPTELNoc/
https://twitter.com/nptelindia
https://www.youtube.com/user/nptelhrd
https://www.linkedin.com/company/nptel/
https://plus.google.com/u/0/+nptelhrd

26/07/2020 Estimation for Wireless Communications - MIMO/OFDM Cellular and Sensor Networks - - Unit 7 - Week 6 - Introduc...

No, the answer is incorrect.
Score: 0
Accepted Answers:

L
91

10DFDM is a technology which is used in

4G LTE

4G WiMAX
WiFi

All of the above

No, the answer is incorrect.

Score: 0

Accepted Answers:

All of the above
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